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CBA Practice paper model answers 

Credit Management and Debt Control – Part 1 (CRMC) 


Section 1

Task 1.1
[image: image2.png](a) The essential features of avalid simple contract are:

Offer, acceptance and cansideration only

Offer, acteptance, consideration, intention to create legal relations and certainty ofterms only

Offer and acceptance only

Offer, acceptance, intention to create legal relations only

(b) Consideration s:

The intention of the parties to be legally bound

“The need for faimess in the contract

“The promise to exchange value

The payment of cash





Task 1.1 continued

[image: image3.png](c) Mohammad orders a pizza by telephone, and says hie will pay on delivery. Which of the following would
constitute consideration?

Calling the pizza restaurant

Handing over money to the pizza delivery person

Accepting delivery of the pizza

Promising to pay for the pizza





Task 1.2

[image: image4.png](a) Dave shops at a supermarket. A contract is formed when

Dave pays for his shopping

Dave puts his selection inthe trolley

“The checkout assistant takes Dave's goods

Dave picks up iters from the shelves

(b) Mary s the owner of aflorist. She places a notice in the window advertising the sale of roses at half
pri

e. The notice

A contractual offer

A completed contract

An acceptance of an offer

An invitation to treat





Task 1.2 continued

[image: image5.png](c) Alpha Limited receives a letter from Beta Limited containing an order for 100 kilograms of rice. Alpha
sends Beta a schedule of standard conditions which includes the clause that payment is due within
30 days of invoice date. This clause is an example of:

An invitation to treat

Cansideration

An offer

Amisrepresentation

(@) John receives a letter from Michael contai

10 an or der of 50kg of sugar for £100. Which of the
following statements is correct?

Michael's letteris an invitation to reat and John's response that he can supply the sugar is an offer

Michael'sletteris an offer and John's response that he can supply the sugaris an acceptance.

Michael's letteris an acceptance and John's response that he cannot supply the sugaris a breach of contract

Michael's letier is an acceptance and John's response that he can supply the sugar is consideration





Task 1.3

[image: image6.png](@) Mary orders some clothing which is advertised as being 100% pure new wool. When she receives the
goods, the label says 60% wool and 40% polyester. Mary has a claim for breach of contract due to:

Figusiary misconduct

Misrepresentation

Misuse of Sales Act

Unfair Contract Terms Act

(b) The Late Payment of Commercial Debts (interest) Act allows:

Customers to charge inferest on overdue amounts owing.

Commercial banks to charge interest on loans.

Suppliers to charge interest on overdue amounts owing.

Suppliers to give discounts for early payment





Task 1.3 continued
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(€) Nita asks Harry for a price to paint the interior of her flat. Harry says he can doit for £200 and Nita
‘says that will be fine. Halfway through the work Harry asks for an additional sum of £100 because he
‘underestimated the work. Which of the following statements is correct?

Nita must pay Harry the £100 because the agreement was made in good faith and Harry made a mistake.
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Task 1.4

[image: image8.png]() The Data Protection Act applies to:

Data about individuals only

Data about individuals, companies and goverment depariments

Data about companies only

Data aboutindhviduals and companies only

(b) The Data Protection Act applies to:

All records held by the company

Only manual records

Only computer records

Only recards of opinions





Task 1.5

[image: image9.png](a) Company Alpha has a customer, Beta limited, who refuses to pay an outstanding amount of £500.
Which of the following courts will deal with any action taken by Alpha to enforce the repayment of the
debt?

The High Court

An Indusitial Tribunal

A 8mall Claims Court

The County Court

(b) Legal action can be taken againist a customer for non payment of an invoice wher

There is a coniract in existence and the non payment s a breach of contract

“There is no contract in existence butthe paymentis stil due.

There is a coniract in existence and the non payment is a misrepresentation

There is a contractin existence and the non paymentis a remedy.





Task 1.5 continued

[image: image10.png]() The normal remedy for breach of contract due to non payment of the deb is:

An action for speciic performance

An action for price

An action for remedy

An action for the goods

() Retention of title is:

“The right ofthe purchaserto retain awnership of the goods received.

The right ofthe seller o retain ownership ofthe goods uniil a cheque has been posted.

The right ofthe seller to retain ownership of the goods uniil payment is made.

The right ofthe purchaserto expect thatits is retained by the seller sven when payment has been received.





Task 1.5 continued

[image: image11.png](€) In order to petition the co

for awi

g up order, the company must be owed at least:

275

2750

27,500

21,000





Task 1.6
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(a) Whyis liquidity management important?

Liquidity managementis importantto ensure that a company does not make a loss.

Liquidity managementis important so that the shareholders can see how much return they will get on
theirinvestment.

Liquidity managementis important so that the company can estimate how much cash is tied up in
inventory and non current assets.

EREEEEE

Liquidity management s important so that the company can ensure that cash is available to discharge
commitments.

ElElE]

(b) Alpha Limited has sold goods on credit to Beta Limited. The following information is available.

() Aged trade receivables analysis
(i) Copies of outstandi
i) Copies of contractual documents

invoices.

(W) Copies of trade references
() Copies of bank references

Which of the above documents will be needed to aid the collection of the outstanding amounts owed
by Beta Limited?
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Task 1.6 continued
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commitments.

(b) Alpha Limited has sold goods on credit to Beta Limited. The following information is available.
() Aged trade receivables analysis
(@ Copies of outstanding invoices
i) Copies of contractual documents
(W) Copies of trade references
() Copies of bank references

Which of the above documents will be needed to aid the collection of the outstanding amounts owed
by Beta Limited?

Allitems

1), i) ang i) only

i),iv) ang ) only

v) andv) only

(€) Which of the following information could be used to assess the credit status of a new customer?
() Financial accounts
(@) Aged trade receivables analysis
(i) Copies of outstanding invoices
(W) Draft contract for trade

() Trade references
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Task 1.6 continued
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(€) Which of the following information could be used to assess the credit status of a new customer?
() Financial accounts
(@) Aged trade receivables analysis
(i) Copies of outstanding invoices
(W) Draft contract for trade
() Trade references

(vi) Bank references.

Allitems

1), i) ang i) only

i),iv) ang ) only

),) and i) only

(d) Which of the following is not a method of analysing credit control information?

Aged trade payables analysis

Trading history

80120 rule.

Materiality
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Task 1.6 continued
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i),iv) ang ) only
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(d) Which of the following is not a method of analysing credit control information?

Aged trade payables analysis

Trading history

80120 rule.

Materiality

(&) The 80120 rule method of analysing information on trade receivables is.

Arule where you only look at the first 80 customer records

Arule that 20 customers out of every 100 will go into liquidation

Arule that approximately 80% of the value of the amounts owed will be represented by approximately
20% of the customer accounts.

Arule thatthe company must make at least 209% profit out of every £100 of goods sold.
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Task 1.7

[image: image16.png]() Which of the following is a reason for offering discounts for prompt payment?

To make the customer feel that they have recsived a bargain

To improve the cash flow of a business

“To make more proft.

To decrease the cost of loans.

(b) A company’s t
Customer A owes £1,000. Calculate the amount A will pay i they take advantage of the discount and

s of payment are 28 days. It is off

19 a discount of 5% for payment within 14 days.

alsothe il interest rate of the discount.

mple ar

2050 and 137.22%

2050 and 37.22%

2050 and 130.36%

2050 and 30.36%





Task 1.8

[image: image17.png]\9is a method where:

(a) Invoice discou

Discounts are given for eatly payment of invaices.

Afinance house lends money against invoices issued.

Areduction is given for faulty goods.

Ajudgementis given by a court

(b) Creditinsurance allows a company to claim for:

Amaunts owed by 3 customer who has defaulted on payment.

Amounts owed to a bank on a mortgage.

Amounts owedto creditors when a company makes losses.

Amaunts owed to sharehalders when a director has acted illegally





Task 1.8 continued

[image: image18.png](c) Organisations often use debt collection agencies because

Debt collsction agencies have more powers than ordinary companies.

Debt collection agencies can place customers on stop with all ather suppliers in the sector.

Debt collection agencies have arightto seize goods from custorer.
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